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THREEZRERRICERERSROIERERRSE TREFAZLTLEY,
FERENMNEMICHOTEH, RRICEATHEWGE(E, BRZAETIAQKICEAYVEER A,
Z0=6 BROFER. AQ-HFEBATAFTRIZGDBENHYFT A REIFT X JELTEYFET,

BT £ A0 R | Bt | R [ &t | R [ tHEER | EE
e 338 —1 161 1 177 -2 155 0
FLHT 189 4 89 1 100 3 84 1
ESHT 109 0 41 0 68 0 52 1
KEH 31 0 14 0 17 0 12 0
NER) 18 0 5 0 13 0 6 0
AR 152 -3 67 -2 85 —1 61 1
=1 39 0 7 0 32 0 1 0
78 L ET 379 6 211 7 168 -1 239 5
EHT 6 0 5 0 1 0 7 0
& HT 192 1 78 1 114 0 63 0
EEHT 165 0 76 0 89 0 90 1
AT 185 4 97 1 88 3 113 3
AHT 197 —1 93 -1 104 0 93 0
2 EHT 369 5 213 4 156 1 218 4
FHT 56 -2 24 -1 32 —1 37 -2
18 faET 86 -1 35 0 51 —1 42 -1
ESHT 107 —1 56 0 51 —1 57 -1
—&T 0 0 0 0 0 0 0 0
NET 120 0 59 0 61 0 54 0
t&ET 142 —1 66 0 76 -1 59 0
INET 76 1 38 0 38 1 31 1
NET 178 0 75 1 103 -1 86 0
+&T 216 2 91 0 125 2 110 1
35k Fe T 361 0 165 0 196 0 172 2
5iEET 3,090 7 1,488 5 1,602 2 1,369 8
EFAET 3,954 6 1,936 0 2,018 6 1,728 9
Ed=1:] 1,671 -15 817 -9 854 -6 677 0
ohEHT 1,613 -2 874 5 739 -7 901 6
FTHEET 646 4 295 3 351 1 245 3
H #THT 3,623 7 1,760 2 1,863 5 1,692 9
Lid6 BT 2,950 4 1,433 2 1517 2 1,261 9
¥R BT 2,895 7 1,416 4 1,479 3 1,103 11
JIIFEET AL 4500 -12 2,199 -8 2,301 -4 1,983 3
JIIFE BT F 2,164 -12 1,049 -7 1,115 -5 864 4
ARKHET 9,018 -10 4,389 -6 4629 -4 3,887 15
=&HT 3,871 -3 1,850 -3 2,021 0 1,688 11
[ FH AT 1,439 7 751 7 688 0 637 5
EREFETER — 2,598 18 1,229 8 1,369 10 997 6
EREFET R 5 2,041 -19 1,002 -8 1,039 —11 856 3
EREFRT PR 5 652 -3 322 -2 330 —1 268 -1
& K BT 5,481 -10 2,591 -7 2,890 -3 2,156 8
ARG F0ET 283 4 275 5 8 -1 277 6
EE 3] 4 0 9 0 X 0 2 0
EXRE—TH 354 3 192 1 162 2 185 4




EXREIZTH 232 -1 95 0 137 -1 120 -1
EXREI=TH 1 0 0 0 1 0 1 0
EXRETETH 0 0 0 0 0 0 0 0
EXRETATH 215 0 106 0 109 0 92 0
LtEE 0 0 0 0 0 0 0 0
TEE—TH 294 -3 136 -1 158 -2 146 -2
TERI=TH 561 12 261 8 300 4 287 5
TEBR=TH 222 -2 101 0 121 -2 97 1
BWEE—TH 419] -12 195 -8 224 -4 218 -4
WERI=TH 515 1 231 2 284 -1 256 0
HEET=TH 233 -1 111 2 122 -3 139 1
e FrET—T B 325 1 159 -1 166 2 144 0
BT =T H 400 0 201 0 199 0 213 -1
EFEWLET—TH 122 -1 54 -1 68 0 61 0
L FEWLWET=TH 351 0 172 0 179 0 180 0
AR —TH 254 5 123 3 131 2 159 5
AR Z=TH 417 1 200 1 217 0 221 1
=R—TH 121 —1 60 0 61 —1 58 -1
E 240 -1 113 0 127 -1 133 1
[ H Hih 142 -4 74 -1 68 -3 112 -3
FPRET—TH 223 41 103 20 120 21 112 21
WA= TH 427 —6 211 -6 216 0 193 -2
FRFET—TH 545 -8 248 -9 297 1 248 -2
bR =TH 461 2 219 1 242 1 195 2
FFET=TH 682 -12 316 -7 366 -5 306 -5
hRFETE T B 398 -5 195 -1 203 —4 206 0
FFEETRTH 588 -7 271 -2 317 -5 225 -8
FEET—TH 205 -6 118 —4 87 -2 110 -3
HER—TH 291 -2 162 -2 129 0 171 0
AEER—TH 390 4 191 3 199 1 210 6
piEERI=TH 269 -2 132 0 137 -2 126 1
IER—TH 128 -3 73 -1 55 -2 70 -3
IERRI—TH 474 -1 227 -1 247 0 229 0
IEREI=TH 519 -7 284 -3 235 —4 284 —4
IERMTH 185 —6 90 -3 95 -3 94 —4
IERMATH 546 —6 256 -3 290 -3 305 —4
KimlI—TH 327 0 159 -1 168 1 140 -1
KimBI—TH 177 7 88 3 89 4 92 4
KFEH—TH 106 -3 43 -1 63 -2 68 -1
XFH=ZTH 3 0 0 0 3 0 4 0
KXFH=TH 128 -2 71 -2 57 0 55 -1
TZEETAE—TH 672 0 332 -2 340 2 272 5
TEEETE=TH 345 -1 156 -1 189 0 135 1
TEEE=TH 656 4 316 3 340 1 250 3
TEETAEETH 574 -5 262 —4 312 -1 255 1
TEEEAETH 687 1 323 -2 364 3 333 5
T EETFEATH 550 3 276 2 274 1 270 4
TEEELETH 644 -3 334 1 310 -4 357 0
T EETAE/NTH 623 -1 285 1 338 -2 285 2
TZHRETE—TH 1,302 -22 605 -12 697 -10 619 -7
TREE=-TH 363 4 188 2 175 2 169 2
THRETER=TH 642 11 306 5 336 6 274 5
TZETRMTH 937 -3 417 -3 520 0 439 1
THRETERATH 920 33 501 27 419 6 522 32
TZETRANTH 548 4 274 4 274 0 276 4
THRETEETH 1,520 -2 720 -4 800 2 755 2
TZETR/\TH 1,071 -9 499 -5 572 -4 600 -5
THRETREATH 328 -3 181 -2 147 -1 175 -1
T EETdE—TH 96 7 56 5 40 2 83 6




TAEETE=TH 96 0 64 2 32 -2 81 1
I =t 81,268 -16| 39,587 6| 41,681 -22 36,848 194
AERXE 71 -1 29 -1 42 0 52 -1
AEHBTH 53 0 28 0 25 0 27 1
AERTHR4A 3 0 0 0 3 0 4 0
AERT /MR 77 1 36 0 41 1 31 0
AEBTKE 0 0 0 0 0 0 0 0
AEHET{EH 25 —1 13 0 12 -1 10 -1
AEBTRE 1 0 2 0 X 0 1 0
AERTA /R 7 0 3 0 4 0 6 0
45 5 0 2 0 3 0 4 0
AEMXEST 242 -1 113 -1 129 0 135 -1
LERISIA 23 0 13 0 10 0 14 0
LERLINE 35 3 15 2 20 1 24 0
[LERTEZDH 21 0 9 0 12 0 14 0
[LERTEHER 7 -2 3 -1 4 -1 8 -2
LERTER 31 0 11 0 20 0 21 0
I SET T 3 9 0 6 0 3 0 10 0
LERXA 12 -1 6 -1 6 0 6 -1
LER/NMNEE 26 0 14 0 12 0 11 0
FEHT 13 0 9 -1 4 1 11 0
[LEXE 177 86 -1 91 1 119 -3
BUEER &5 419 -1 199 -2 220 1 254 -4
FEERETE £ 1,145 -2 545 0 600 -2 479 6
EETHET 649 0 289 2 360 -2 228 4
AT EHE 1,076 -2 529 -1 547 -1 412 2
e IRET [ H 7 1,042 -13 503 -2 539 -11 404 -4
BB ERER 1,294 -5 626 -2 668 -3 392 -1
BT ERETR 1,081 -2 510 -1 571 -1 450 3
BT = A 3,648 -15 1,748 —11 1,900 -4 1,493 -2
Bt X EET 9,935 -39 4,750 -15 5,185 -24 3,858 8
BRILIAT E LTS 1,715 -3 803 -2 912 -1 643 4
SRILBT AT F 2,449 -4 1,176 -1 1,273 -3 999 3
EAEIE YN 1,801 -1 893 0 908 —1 756 3
BRILET A 3R T 1,591 -8 794 -1 797 —7 631 0
BRILET SR 1,294 -9 613 -8 681 —1 514 -4
AR LLET )R 2,286 -14 1,107 -7 1179 -7 896 1
EALESTE 4,705 -14 2,305 -4 2400 -10 2,046 0
BRI Hh X EEET 15,841 -53 7,691 -23 8,150 -30 6,485 7
& it 107,463| -109| 52,227 -34| 55,236 -75| 47,445 205




